®

Games4esl
Irregular Plural Nouns

Write the plural form of the word in brackets to
complete the sentence.

1.1 saw many at the park. (child)
2.Two are playing chess. (man)
3.Three are singing. (woman)
4.She saw two in the kitchen. (mouse)
5.Two are in the pond. (goose)
6.She has two loose . (tooth)
7.He hurt both his . (foot)
8.Four are at the store. (person)
9.The tree has many . (leaf)
10.He made two of bread. (loaf)
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Games4esl
Irregular Plural Nouns

Write the plural form of the word in brackets to
complete the sentence.

1.1 saw many children at the park. (child)
2. Two men are playing chess. (man)

3. Three women are singing. (woman)

4.She saw two mice in the kitchen. (mouse)
5.Two geese are in the pond. (goose)
6.She has two loose teeth. (tooth)

7.He hurt both his feet. (foot)

8.Four people are at the store. (person)
9.The tree has many leaves. (leaf)

10.He made two loaves of bread. (loaf)
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